Facitliste

| l.a:
> solve(z"2+2*z-2-4*1);

L 1+1,-3-1
- L.b:

> solve(z"2-(6+5*1)*z+13*1);
L 3+21,2+31
1.

> solve(1*z"2-(2+3*1)*z+1+5*1);
L 2-31,1+1
1.d:

> solve((z+1)"2=3+4*1);
L 1+1,-3-1
[ 2t

> solve(z"2-4*1*z-1+4*1);

1,-1+41

> s:=solve(z™M4-4*1*z"2-1+4*1);

si=a/-1+41, —/-1+41,1,-1

> evalc(s[1]);
V—2+2 G_E___
"> evalc(s[2]);

-iia%fizi—%lvz+2vq7

1T
(98]

> Az=sqrt(6)+sqrt(2)+1*(sqrt(6)-sqrt(2));

=8 o2+ (46 -2
B:=4+64/2+81

w5

S simplify(arctan(sqrt(6)*sqrt(2)/6));

> B:=expand(A™2);

S convert(B,polar);

T

L 6
[ > s:=solve(z"2=8*(sqrt(3)+1));

s:=24/21+243, 24214243

"> evalc(s[1]);evalc((s[2]));
Nﬁ;+wﬁg+(wﬁ;—wﬁg)l
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> solve(z"4+2*z"2-8);

i 21,-21,4/2, 2
[ > factor(z"4+2*z"2-8);

| (22 +4) (#-2)
[ >




